Exercises on XML and Semantic Web Technologies Summer term 2005
Prof. Dr. Lars Schmidt-Thieme, Karen Tso sheet 4/ 06.05.2005

Due on: (postponed to) Thursday 19.05.2005 via email tso@informatik.uni-freiburg.de
Exercise 7

a) Download the products.xsd (you can get the file from our department webpage, in
Exercises section).

1. Complete the XML schema so that it fulfils the following restriction:
The productCode of a company has the following form:

E.g. hP SC 12345

e The first component (e.g. hP) consists of 2 letters. With
LOWERCASE OR UPPERCASE letters from a to z.

e The second component (e.g. SC) consists of 1 OR 2 letter.
e The last component (e.g. 12345) is a number with up to 4 digits.

b) Given a fragment of an XML schema.
1. Does the following XML schema violate the Unique Particle Attribution?

<xs: el ement nane="nanes">

<xs: choi ce maxCccur s="unbounded" >

<xs:elenent ref="first-nane"/>

<Xs:sequence>
<xs:elenent ref="first-name" m nCccurs="0"/>
<xs: el enent ref="m ddl e-nane" m nCccurs="0"/>
<xs: el enent ref="Iast-name"/>

</ xs: sequence>

</ xs: choi ce>

</ xs: el ement >

2. If yes, explain why and model it correctly such that it allows the following
names combination.

<first-name> <first-name> <first-nane> <m ddl e- nane>
M chael M chael M chael Joseph
</first-nane> </first-name> </first-nanme> </ m ddl e- nane>
<m ddl e- nane> <| ast - nane> <| ast - name>
Joseph Jackson Jackson
</ m ddl e- nane> </ | ast - nane> </ | ast - nanme>
<l ast - nanme>
Jackson

</ | ast - nanme>
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Exercise 8

a) Given the following example xml document, design a suitable schema such that the
document is valid w.r.t. the schema.

xsi : noNanespaceSchenmaLocat i on="bank. xsd" >
<account account _num="_1"
si n="123456789"
name="Ben"
city="Crazy Town">
<account Type
account _t ype="Checki ng"
bal ance="100">
<account _activity
operation_type="W
oper ati on_dat e="2005- 05- 04T09: 13: 12"
anmount =" 99"/ >
</ account Type>
<account Type
account _type="Savi ng"
bal ance="100"/>
</ account >
<account
account _nume"_2"
si n="234567801"
name="Tony"
city="City of Angel">
<account Type
account _t ype="Checki ng"
bal ance="890" >
<account _activity
operation_type="D"
oper ati on_dat e="2005- 04- 23T10: 12: 04"
anmount =" 800"/ >
</ account Type>
</ account >
</ bank>


http://www.w3.org/2001/XMLSchema-instance"

